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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1) Question paper comprises five Sections —A, B, C, D and E. All questions are
compulsory.

(11) Section A — Question nos. 1 to 20 are very short-answer type questions,
carrying 1 mark each. They are required to be answered in one word or one
sentence each, but not exceeding 20 words.

(111) Section B — Question nos. 21 to 23 are short-answer type questions, carrying
2 marks each. Answers to them should not exceed 40 words each.

(tv) Section C — Question nos. 24 to 27 are long-answer type questions, carrying
4 marks each. Answers to them should not exceed 100 words each.

(V) Section D — Question nos. 28 to 30 are two passage based questions and one
picture OR cartoon based question, carrying 5 marks each. Answers to them
should not exceed 150 words each.

Question no. 31 1s a map based question that includes identification of
important-places on the basis of given information. Write its answers in your
answer-book.

(vi) Section E — Question nos. 32 to 34 are long-answer type questions, carrying
6 marks each. Answers to them should not exceed 150 words each.

(vit) Answers. should be brief and to the point and the above word limit be adhered
to as far.as possible.

(viit) There is no overall choice in the question paper. However, an internal choice
has been provided in 1 question of one mark, 1 question of four marks and
all the 3 questions of six marks.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
1. Write the full name of the two Superpower countries whose rivalry was
the main cause of the Cold War. 1
OR
Write the full form of SEATO. 1
2. Why 1s ‘Warsaw Pact’ also called the ‘Eastern Alliance’ ? 1

P T4
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3. Complete the following sentence in a meaningtul way :

“In eastern Europe, Czechoslovakia split peacefully into two independent

countries called and . 2% 1 =17

2

4, Identify the country that was neither a member of NATO nor of the
Warsaw Pact. 1

(A)  France
(B) Poland
(C) Sweden
(D) Spain

D. In the context of the world economy, cite any two examples of public

goods. 2% L =]

2
6. The privatization of agriculture in China led to 1

(A) retardation of growth in rural industry.
(B) = lowering the personal savings.
(C) © aremarkable rise in rural incomes.

(D) a phenomenal rise in foreign trade.

7. In 1987, why did India send the ‘Indian Peace Keeping Force’ (IPKF) to
Sr1 Lanka ? 1

8. Give any two examples of political human rights. 2x — =1

9. Which countries are known as the “Third World’ ? 1

10. Which one of the following statements related to globalisation 1s true ? 1
(A) It has reduced the rivalry between countries.
(B) It has reduced the importance of the United Nations.
(C) It has enhanced the choices for consumers.

(D) It has reduced the spread of deadly diseases.

11. The ruler of which Princely State in India had the title ‘Nizam’ at the
time of Partition ? 1
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20-a¥TT FiY o &I Ie3T whl IATH hifT | 1

15. WEdl, 1967 H §U Aish 99T 9UT TSY 9™ |HIAT o 378 IAEN o THOMHT
hHIUH Ul I U Fea] gl | TSHITdh Yohd g SH o1l 36 928 o folu

AR 0@ e 1 TIveryul SHifsT | 1
16. “1975 H SN AUTAhIA & GHRIH SATGIAAT <hl 7T i |7 38 HYA <l I¥ = 39
b ehl SATGIAT o his gl IaTaUl fIRgU | é+é=1

17. HIREd U 1 Tl Hlh GIRI [AIRaY :
“ Temedrcl AigiaH <k THUSI gy HEd qur queHl ¥ iy sk, 9Hl
EITHAT 3hi-H[H ¢4 o 17U, S shT ST Toham Tt |7 1

18. fAmafafgad & 9 sl9-91 %o arEl-fats e & T<d 4§ 99 787 8 2 1
(A) I8 3T drel TH (IMEE@RT) o foeg o |
(B) U8 3HTare =] fzdr o fowg o |
(C) Ig Agie e e foramt & for =m um & for e |
(D) I8 ATGIA Tilifeh THMAT 9 o ol o |

19. Tk TIMi ! 9w qrfes H=fiRad e F&l 3T A9Yul 51 S -

1989 % <leh 9T IAMAl T qTel hl TS o1 HE @1 UST 3R 36

o1y g 9a | HLHT 1 T Y& FIT | é+-§=1
20. 1971 % Wleh U TGl o YT Tohd ITAUTH THAT A iU e hl AT IS
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After independence, why were our leaders not ready to reorganise States

on the basis of language 1n spite of the fact that Congress had already
recognised the linguistic principle as the basis of formation of States ? 1

Show with the help of one example that Jawaharlal Nehru made efforts
for Asian unity. 1

Highlight the main objective of the ‘20 Year Treaty of Peace and
Friendship’ signed between India and the Soviet Union in August 1971. 1

In February 1967, results of the general elections to the Lok Sabha and
the State Assemblies jolted the Congress Party. Analyse the major factor
responsible for the above setback called the ‘Political Earthquake’. i

“Excesses were made during the Emergency imposed 1in 1975.” Support

the statement with any two examples of such excesses. " - L =1

s 4

Correct the following statement and rewrite it :

“The supporters of the ‘Naxalite Movement’ used force to snatch land
from the poor and the landless to give it to the rich land owners.” 1

Which one of the following statements is not true for ‘Anti-Arrack
Movement”? 1
(A) It was a movement against alcoholism.

(B) It was a movement against domestic violence.

(C) It was a movement to get justice for poor landless farmers.

(D) It was a movement for gender equality.

Fill in the blanks to make 1t a correct and meaningful statement.

Lok Sabha elections in 1989 led to the defeat of Party and an

era of Governments began in India. 2 + A =1

2 2

Soon after the Lok Sabha elections of 1971, which international event

added to the popularity of Indira Gandhi ? 1
o &1
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21. 9Ifh WA I HIYS HHHU ihIT FAT HMET TGl & ? hig @ HR IATH
$|[%|Q| 2x1=2
22. WY A H feu mu fA=fafigd d9eai <=1 waw B W feu 7w qe O @d fuaH
dil[ﬁm : , . 4><£=2
7Y A 7Y B 2
(a) HHEATIHRRI <hl &7 o AU hH (1) L& uiwe
T AT Tfer gE
(b) EIH Y TH T Teh T (i)  THAE S
(c) 98 Hied Sl fgdtd fava Ig U (i) AT IR
Y FEHA @
(d) EIH TS G9 H Ueh 37 Tk hdal (iv) 7T 3% A3
gig TR geET @
23. 1967 = 91 sieUl Ml R TohT 7Y foh=gl g1 YUWI 1 FUM hHITIT | 9x]1=2
Que T
24, &N foepTH .U BIORIR & &9 H ‘SO Jcdt bl feheal a1 SRl T I
é”éQ\ 2x2=4
SOCI
Il TN IR foshr o AiTed o ®U ° JUI g9 kil fohegl g1 kAl b
WWI 2Ix2=4
25. TEAAAT o YT YYH 9 W TATEl § U I1el o JYcd b fohral gl hRUI
ﬁwfﬁﬁ'ﬂl 2560 —=4
26. WA <hi T Hifd o 0T | STargtarel 48 hi YfHehT sl GedTehd hIfST | 4
27. SH-HYHR H HHlYd Aoe¢ 370 sl BT SIMHT fohE HHT dh =AHETd 8 ?
Y I o THYH H I3 gl 39T deh GIIT, | 2x2=4
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SECTION B

21. Why was ‘Shock Therapy’ considered a painful process of transition ?

Highlight any two reasons. ax1=2
22. Match the following facts under Column A with those in Column B 1n a
meaningful way : 4x é =2
Column A Column B
(a) An NGO working for the protection (1) The Security Council
of Human Rights
(b)  An organ of the United Nations (11) Amnesty International
(c) The organisation which failed to stop (111) International Court
the Second World War of Justice
(d) An organ of the United Nations which @ (v) League of Nations
has only five permanent members
23. Describe any two reforms initiated by Indira Gandhi after 1967. 2x1=2

SECTION C

24. Describe any two strengths of ‘ASEAN Way as an instrument of
development in the region. 2x2=4

OR

Describe any two strengths of the European Union as an organisation of
mutual cooperation and development. 2x2=4

25. LExplain any two reasons for the dominance of the Congress Party in the
first three general elections after independence. 2x%2=4

26. Evaluate the role of Jawaharlal Nehru in the formulation of India’s
foreign policy. 4

27. How far 1s i1t justified to remove Article 370 related to Jammu and
Kashmir ? Give any two suitable arguments to support your answer. 2%2=4
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Sre-Herd |
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3BT W@l 7

(i) ~ Shlgd H @I1T T TR TMT GIR® TR JHEH Ug TIR®  gRI UTiehed™
& -9 & LRI 9el Sl a1 T 2 2

(i)  UTfentd™ < deH H qE FHTHRT T HY TI¥ 9T |
(iii) 39 WA G Ulfhed™ <hl TSHId o TG99 H U T H¥ sl W

d;”%'q | 1+2+2=5

TIZ:  [HEITIEGT F97 S FIRETIIT ThHLTidan & o7 397 G&I1 28 & €I W & |
(28.1) UIIREAM o feheal QI THali=Id T4 HHET & A8 foTRIT |

(28.2) TIARN TAlhdd TATU HLd H YIhEAM hl STTHAAT & hig 2l HRU] TP
hITTT |

(28.3) 1971 T Ydi UTfehtd™ o TIfeh&d H AT 84 o [T IR whis aql

FHh TqY hitalu | 1+2+2=5
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SECTION D
28. Study the cartoon given below carefully and answer the questions that
follow :
1AM
ALWAYS
QOOD AT
CALCULATION
(1) As shown 1n the cartoon, ‘Musharraf in tie’ and ‘Musharraf in cap’

represent-which two official posts in Pakistan ?

(1) Explain the meaning of the second equation in the context of
Pakistan.

(1) Explain the message conveyed by this cartoon regarding the
politics in Pakistan. 1+2+2=5

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 28.

(28.1) Name any two elected Prime Ministers of Pakistan.

(28.2) Explain any two reasons for Pakistan’s failure to build a stable
democracy.

(28.3) Explain any two {factors responsible for KEast Pakistan’s
break-away from Pakistan in 1971. 1+2+2=5

.59/B/1 BRI P.T.O.
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29. o TCU 1G0T ! LMYE UlgU qT H=IIRad Iei o I TeTRIT :

YAl el &1 1 TaaR SHAT-SHTGA shl GL&T ! TSAT hl LT H TGt
UEdT 8 | HHedl shl LT 3R TSI shl GL&Tl Th-gol o ek B Mg AN
IAFR B i & | Tifehd HUAd TsT o1 Haatd SHIM U ST &l 8l |
ANTRERT <! foceft BAct & =T 9ol €1 39eh! TR <hl & I1d Bl Tifoh $a4 WX
! GATH T8l T ST Gohdl | T=ATs I8 & Tob IS 100 a9 H a4 &1 faesh
OT 6 g1 91 Y &, IGH hal $AGI AN Ge U Bl N b gl AR 1Y
2 |
(a)  HFSAT Shi GLEAT bl TTYTHh A& FIT 8 ?

(b) T 3TN <hl FEAT H SII3T Toh Tohell Q1 H S sHaEAT shl THE
o4 RN & fIu w@au o= gkt 2 |

(c) sl <hl il g gHadl <l &l 1 3 ﬂ‘e‘r_orcﬂﬁ 27 1+242=5

30. o QU 7T STaqorehl SqHYdeh iU a9l HHETRgd Y91 & It TeTRgu

YA diag™ o HHiareAl &l favaE of b 9t ToHifas o
QAlhdTi=eh HTohl 1 UTeiH hUl | 3rg Jg i Tavam o1 foh mardehrat hi feufd
4 ol YT ST STHTYROT WihAl o1 SEIHTS (d1¥ o EH % G | T&d g4 &l
$Ufl | E IFNE § THR i AMGHA d [ TEGHI o HAdd A AN
TRt ARt ¢ & T |
(a) YA o Hiag™ AT o e i fohd 9@ & SIET SATar o 2
(b)  UH Tohe&l Gl TAMhdI=Ieh Hehl chl SATEAT ShilolU fS-ehl Teld WHA b G

ST Ifdeh @l ohl hiAT ATRU |
(¢)  3STMUTdHTA H AT ThE hl < T8 Tohral @ STETYRUT IREAT hl IS
W\ﬂ | 1+242=5
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29. Read the passage given below carefully and answer the following

questions :

Human security i1s about the protection of people more than the
protection of States. Human security and State security should be — and
often are — the same thing. But secure States do not automatically mean
secure peoples. Protecting citizens from foreign attack may be a
necessary condition for the security of individuals, but it 1s certainly not a
sufficient one. Indeed, during the last 100 years, more people have been

killed by their own governments than by foreign armies.
(a) What is the primary goal of human security ?

(b)  Show with the help of an example that the law and order’ problem

in a country may become a threat to Human Security.

(c) Why 1s it more important to protect people than to protect
States 7 1+2+2=5

30. Read the passage given below carefully and answer the following

questions.:

The makers of India’s Constitution trusted that all political parties
would basically abide by the democratic norms. Even during the
Emergency, when the government would use extraordinary powers, its
use would be within the norms of the rule of law. This expectation led to
the wide and open-ended powers given to the government in times of

Emergency.

(a) By what name was the body of India’s Constitution-makers known

as ?

(b)  Explain any two democratic norms which all political parties of

India should abide by.
(c) Highlight any two extraordinary powers given to the Indian
Government during Emergency. 1+2+42=5
.59/B/1 13 P.T.0.
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(111)
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(iii) o8 ST gl Todehl G JFA 3T |

(iv) o8 TSI Sl TSite e — ArTeTel S93iid 8 o1 8371 2 |

(v) 98 USH I drel-fauet e 9 9veig 2 | 5x1=5
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31. In the given political outline map of India (on page 17), five States have

been marked as (A), B), ©), D and (E). Identify these States on the

basis of information given below and write their correct names in your

answer-book along with the respective serial number of the information

used and the concerned alphabets given in the map as per the following

format :

Sr. No. of the
information used

Concerned alphabet
in the map

Name of the
State

(1)

(1)

(1i1)

(1v)

(v)

(1) The State where Sardar Sarovar Project 1s situated.

(11) The State which was liberated from the occupancy of Portugal in

1961.

(111) The State where Chipko Movement started.

(1v) The State associated with Rajiv Gandhi — Longowal Accord.

(v)  The State associated with the ‘Anti-Arrack Movement’ . 5x1=5
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For question no. 31
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FIZ:  [HEIRET J99 FacT gIRETST Ghemidar & 170 397 &1 31 & TH W

g/
(31.1) ATTIAYE & AHEdTe] a1 skl A fARgu |
(31.2) 1963 T fore U= 1 & TomaT 3T o1 2

(31.3) HG AR YRISHT fopd TS | G(ed & 2
(31.4) Trsflar TiTeft <hl gen form TsT H 73 off 2

(31.5) G I AU Foell HAQoH fohl TSI € Y& 3T A1 ? 5x1=5
WUE &
32. ‘T yd Tava &l GUIH o 91g, YR <hl Te-U&dl shl HIfd Jacl StEl JTEieEh
3R IR &1 &l | 39 Y o 98T § ahig did 39J<h dob [IRgU | 3x2=6
Tl
3T fS=IR ¥ U8el ¥ 331U U $hi4-8 @9 shed, Gifadd 99 &I 1991 § faees
o 91 "ohd-2.? 3%x2=6
33. Tavd <hl TSHITA hl GG Tl Q3T @ a1 § Ged o o f9dasr &
T Tehegl =R HEl sl UM hITWY | 4><1é=6
3Tl
WL W 9el1eht0T o B fehral SR SHTET 1 UM hHITST | 4x1é=6
34. TFAAAT WA YRA o THE U fehral ol T&I FAIAT shl SATET hITIT | Ix2=6
3Tl
gha shifd & & foiw TR grr 331U U fohedl fiF shemi o1 3g@ HIfSe | 39
Shifd 8 Haeeh ATH fohHehl Tg= 3T HH ? 3+3=6
-59/B/1. 18
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Note :

OPI0
S
The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 31.

(31.1) Name the separatist leader of Nagaland.

(31.2) Which State was created in 1963 ?

(31.3) The Narmada Sagar Project is located in which State ?
(31.4) In which State was Rajiv Gandhi assassinated ?

(31.5) From which State was the Movement of Right to Information

started ? ox1=5
SECTION E
32. “With the end of the bipolar world, the Non-alignment policy of India lost
1ts earlier relevance and effectiveness.” Support the statement with any
three arguments. Ix2=6
OR
In your opinion, which three steps if taken earlier could have saved the
USSR from-digintegration in 1991 ? 3Ix2=6
33. Describe any four issues that compelled global politics to think about
environmental concerns. 4x 1 é =6
OR
Describe any four eftects of Globalisation on India. 4x 1 é =6
34. LExplain any three major challenges faced by India just after
independence. IX2=6
OR
Mention any three steps taken by the government to bring about the
Green Revolution. Who were the main beneficiaries of this revolution
and how ? 3+3=6
.59/B/1 19
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